@ Bestfit/I=0 A Bestfit/=1 v Bestfit/I=2 @ Measured/l=0 @ Measured/=1 @ Measured/=

2

3000 t A I o A I N
A o—4A ®
A o0—YO o0— YO } 275
2750 T eoo—V9 eoo—V9 ¢
A o—4A o
P A 2 P L
2500 {4 oo V<o o A ooV ° i
- oo Vo oo vO 5
JN::L ooV o ooV o kX <
= 2250 oA oA =
- o o g
e 0V v o ‘ o)
S o4 @A T 200 S
T 2000 oo on oo on ?
- oveo oveo o
TN L 2 o
1750 o s or e « | 78
T L
o ® o ®
o © ¢ o © ¢
@ 1 150
1500 ® © ¢ e ©
e e
@ @
L L
| - 12,5
-1.00 -0.75 -0.50 -0.25 0.00 0.25 0.50 0.75 1.00

Frequency normalised by Av modulo 1 (Av = 103.3 uHz)



